
Unit 3 Week 4 Maths 

Wednesday Simmering 

Choose one section for your simmering then one section for your main activity. If you fancy a challenge do 

try the next level 

* ** *** 
  

  



* LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

 
Dave wants to make a ready reckoner to work out the costs of two of each of the snacks. He has filled in one of the costs. Can you fill in the rest? 

Snack Cost of one Cost of 

two 

Mango dip 35p  

Chilli dip 45p 90p 

Salt and vinegar crisps 62p  

Cheese sticks 71p  

Pretzels 83p  

Ready salted crisps 58p  

 
If Dave bought two packets of salt and vinegar crisps, how much change would he have from £2? 
 
If Dave had £2, how much change would he have if he bought two packets of pretzels? 

 

 

reckoner  for 

doubling? 



** LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

Can you make a ready reckoner for doubling? 

 

 
 
Dave wants to make a ready reckoner to work out the costs of two of each type of breakfast food. He has filled in one of the costs. Can 
you fill in the rest? 

Breakfast food Cost of one Cost of two 

Bottle of milk 86p  

Bran Flakes £1.95 £3.90 

Brantime £1.83  

Bran Crunch £1.75  

Oatbars £1.64  

Fibre-bars £1.78  

Moon pops £2.32  

Star pops £2.67  
 

Challenge 

If Dave bought two packets of 
Brantime, how much change would he 
have from £5? 

If Dave had £5, how much change 
would he have if he bought two Fibre-
bars? 

 



 

*** LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

Can you make a ready reckoner for doubling? 

 

 
 
Dave wants to make a ready reckoner to work out the costs of two of each type of breakfast food. He has filled in one of the costs. Can 
you fill in the rest? 

Snack Cost of 1 Cost of 2 Cost of 3 Cost of 4 Cost of 5 

Mango dip 35p 70p £1.05 £1.40 £1.75 

Chilli dip 45p     

Salt and vinegar 
crisps 62p 

    

Cheese sticks 71p     

Pretzels 83p     

Ready salted crisps 
58p 

    

 

Challenge 

If Dave bought four mango dips, 
how much change would he have 
from £5? 

If Dave had £2, how much more 
money would he need to buy five 
packets of salt and vinegar 
crisps? 



 

Answers 

* ** *** 
  

  

117 925 

£40 ÷ £5 = 8 people 

4 + 16 = 20 

6 + 14 = 23 The ones 

digit need to add up to 

10 

4 + 5 = 9 

Double 9 = 18  

Olivia has 18 grapes 

6 x 79p = 474p 

474 – 449 = 25p 

4 – 3 side faces and 1 base face 

              504 
                 2 

            1840 
                2 

38.82 

11 or 13 

8 or 27 or 64 or 

125… 

£3.50 x 2 = £7 

So spends £5 on 

dodgems. £5 ÷ £1.25 

= 4 times 



* LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

 
Dave wants to make a ready reckoner to work out the costs of two of each of the snacks. He has filled in one of the costs. Can you fill in the rest? 

Snack Cost of one Cost of 

two 

Mango dip 35p  

Chilli dip 45p 90p 

Salt and vinegar crisps 62p  

Cheese sticks 71p  

Pretzels 83p  

Ready salted crisps 58p  

 
If Dave bought two packets of salt and vinegar crisps, how much change would he have from £2? 
 
If Dave had £2, how much change would he have if he bought two packets of pretzels? 

 

 

reckoner  for 

doubling? 

70p 

90p 

 

124p 

142p 

166p 

116p 

200p – 124p = 66p 

 

200p – 166p = 34p 



** LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

Can you make a ready reckoner for doubling? 

 

 
 
Dave wants to make a ready reckoner to work out the costs of two of each type of breakfast food. He has filled in one of the costs. Can 
you fill in the rest? 

Breakfast food Cost of one Cost of two 

Bottle of milk 86p  

Bran Flakes £1.95 £3.90 

Brantime £1.83  

Bran Crunch £1.75  

Oatbars £1.64  

Fibre-bars £1.78  

Moon pops £2.32  

Star pops £2.67  
 

Challenge 

If Dave bought two packets of 
Brantime, how much change would he 
have from £5? 

£5 - £3.66 = £1.34 

If Dave had £5, how much change 
would he have if he bought two Fibre-
bars? 

£5 – £3.56 = £1.44 

 

172p 

£3.66 

£3.50 

£3.28 

£3.56 

£4.64 

£5.34 

£5 – £3.56 = £1.44 



*** LO To double money  

Challenge To find change. Add the items together then find the change subtract) 

Can you make a ready reckoner for doubling? 

 

 
 
Dave wants to make a ready reckoner to work out the costs of two of each type of breakfast food. He has filled in one of the costs. Can 
you fill in the rest? 

Snack Cost of 1 Cost of 2 Cost of 3 Cost of 4 Cost of 5 

Mango dip 35p 70p £1.05 £1.40 £1.75 

Chilli dip 45p     

Salt and vinegar 
crisps 62p 

    

Cheese sticks 71p     

Pretzels 83p     

Ready salted crisps 
58p 

    

 

 

Challenge 

If Dave bought four mango dips, how 
much change would he have from 
£5? 

£5 - £1.40 = £3.60  

If Dave had £2, how much more 
money would he need to buy five 
packets of salt and vinegar crisps? 

£2 - £3.10 = - £1.10 He need £1.10  

 

90p                        £1.35                        £1.80                   £2.25 

124p                        £1.86                       £2.48                   £3.10 

142p                        £2.13                        £2.84                   £3.55 

166p                        £2.49                        £3.32                   £4.15 

116p                        £1.74                        £2.32                   £2.90 


